## **DONATED INVENTORY**

Items on this page that are marked with an asterisk (\*) may be paid for by the HPNAP Food Grant. RS=Restrictions as follows

1= Bulk Item; All programs EXCEPT Food Pantries may order these items.

4= Only Food Pantries, Soup Kitchens and Shelters may order these items.

Item	Description	Packing	*=Yes for	Case Wt.	Charge PerLB	Charge Per Unit	Available in Latham 12/08/2023	in Cornwall 12/08/2023	RS
Itelli	·	CTION OF DONATE	HPNAP D INVE				12/00/2023	12/00/2023	
01-Non-F		CHOILOI DONAIE	- 114AE	_14101	<b>1</b>				
	Food/Formula								
8193	APTAMIL FIRST MILK (FROM BIRTH)	6/800GRAM CONTAINER	*	12	\$0.00/LB	\$0.00	33	0	
03-1 Bev 03-Beve	verages - Water								
143	ASSORTED BEVERAGE (JUICES, BEV, NO SODA)	ASSORTED PACK SIZES		40	\$0.16/LB	\$6.40	0	21	
112	ASSORTED SPARKLING WATER & SELTZERS-FREE!	ASSORTED PACK SIZES		40	\$0.00/LB	\$0.00	0	19	
5021	DUNKIN COLD K CUPS	80 CT BOX		3	\$0.16/LB	\$0.48	70	0	
2154	ELECTROLYTE POWDER MIX- MIXED BERRY	12/10/0.11 OZ PACKETS		1	\$0.16/LB	\$0.16	0	21	
7564	MARTINILLIS SPARKLING FRUIT JUICE	12/ 25.4OZ GLASS BOTTLES	3	39	\$0.16/LB	\$6.24	32	0	
7265	MOUNTAIN DEW START UP - STRAWBERRY	12/16 OZ CANS		11	\$0.16/LB	\$1.76	91	0	
7799	YERBA MATE TEA - ORGANIC	12/16 OZ GLASS BOTTLES		20	\$0.16/LB	\$3.20	0	60	
<b>04-Breac</b> 7364	d/Bakery DARK CORN SYRUP	12/1 PINT BOTTLES	*	18	\$0.16/LB	\$2.88	22	0	
05-Cerea									
06-Meals 5853	s/Entrees/Soups KRAFT MAC AND CHEESE CUPS	6/7.6 OZ BOX	*	4	\$0.16/LB	\$0.64	21	0	
08-Desse	erts								
149	ASSORTED BAKING GOODS	ASSORTED PACK SIZES		30	\$0.16/LB	\$4.80	0	32	
2498	CHOCOLATE DIPPING KIT - MILK & WHITE CHOCOLATE	BULK		18	\$0.16/LB	\$2.88	148	0	1
09-Dress	•								
10-Fruits	s Canned/Frozen ASSORTED FRUITS & VEGETABLES	ASSORTED PACK SIZES	*	35	\$0.16/LB	\$5.60	-2	17	
20086	NNY MOTT'S APPLESAUCE -FREE! -LIMIT 10 CASES	12/23 OZ JAR	*	18	\$0.00/LB	\$0.00	898	264	
11-Grain									
3099	ORGANIC RYE FLOUR	4/48 OZ PACKS	*	13	\$0.16/LB	\$2.08	0	14	
<b>12-Healt</b>	h/Beauty Care  HAND SANITIZER - FREE	4/1 GALLON JUGS		37	\$0.00/LB	\$0.00	26	0	
5537	SANITIZER KIT- 1 MASK,1 SET L GLOVE,1 20Z SANTIZER	24 KITS PER CASE		5	\$0.16/LB	\$0.80	207	0	
5564	SHEA MOISTURIZER HAND SANITIZER	24/3.2 OZ BOTTLES		5	\$0.16/LB	\$0.80	0	34	

Available

Available

## **DONATED INVENTORY**

Items on this page that are marked with an asterisk (\*) may be paid for by the HPNAP Food Grant. RS=Restrictions as follows

1= Bulk Item; All programs EXCEPT Food Pantries may order these items.

Itam	Description	Packing	*=Yes for	Case Wt.	Charge PerLB	Charge Per Unit	Available in Latham 12/08/2023	Available in Cornwall	RS
Item	Description	Packing	HPNAP		1 0125		12/08/2023	12/08/2023	
8768	ng Products  CLEAR POLY GLOVES - FOOD SVC - ONE SIZE FITS ALL	4/2000CT BOXES		22	\$0.16/LB	\$3.52	95	0	
8352	FABRIC CONDITIONER - FREE & CLEAR	6/50 OZ BOTTLES		23	\$0.16/LB	\$3.68	16	0	
3306	POLY GLOVES - UNIVERSAL SIZE	500 CT CASES		16	\$0.16/LB	\$2.56	194	22	
5774	SYNTHETIC DISPOSABLE GLOVES - FOOD SVC - OSFA	10/200 COUNT BOXES		9	\$0.16/LB	\$1.44	294	0	
<b>14-Juices</b> <b>16-Mixed</b> / <sub>156</sub>	Assorted ASSORTED FOOD PANTRY	ASSORTED PACK SIZES	*	35	\$0.16/LB	\$5.60	0	50	
17-Non-Da 18-Nutritio		ASSORTED PACK SIZES		20	\$0.16/LB	\$3.20	0	32	
19-Paper   153	Products-Household ASSORTED PAPER & PLASTIC	ASSORTED PACK SIZES		20	\$0.16/LB	\$3.20	0	16	
20-Paper   154	Products-Personal ASSORTED PERSONAL HYGIENE - limit 3 cs	ASSORTED PACK SIZES		30	\$0.16/LB	\$4.80	-1	11	
8338	May contain alcohol  MEDIUM SWIM DIAPERS	4/18 COUNT PKG		5	\$0.16/LB	\$0.80	254	0	
<b>21-Pasta</b> 7451	ASSORTED PASTA	LOOSE 20 LB BAG IN BOX	*	20	\$0.16/LB	\$3.20	140	0	1
	eat Protein Foods/Cookies ASSORTED CHIPS-TORTILLA, CHEESE DOODLES	ASSORTED PACK SIZES		10	\$0.16/LB	\$1.60	0	53	
178	ASSORTED GRANOLABARS	ASSORTED PACK SIZES		20	\$0.16/LB	\$3.20	0	21	
2646	CHEX MIX BIRTHDAY CAKE MIX SNACK BARS	4/13.56 OZ BOXES		5	\$0.16/LB	\$0.80	169	0	
9829	JALAPENO VEGGIE CRISPS	4/19 OZ BAGS		6	\$0.16/LB	\$0.96	0	76	
4125	NATURE VALLEY OATS N HONEY GRANOLA BARS	3/2LB3.76 OZ BOXES		7	\$0.16/LB	\$1.12	716	0	
3036	POLAR FREEZE POPS	100 / 1.5 OZ POPS		10	\$0.16/LB	\$1.60	215	0	
9791	POPCORNERS - CINNAMON CRUNCH	12/7 OZ BAGS		7	\$0.16/LB	\$1.12	0	20	
3624	REESE'S PUFFS/CINNAMON TOAST CRUNCH BARS	30 COUNT BOX		2	\$0.16/LB	\$0.32	241	0	
7507	SALT & PEPPER VEGGIE CRISPS	10/6.25 OZ BAGS		5	\$0.16/LB	\$0.80	0	32	

## **DONATED INVENTORY**

Items on this page that are marked with an asterisk (\*) may be paid for by the HPNAP Food Grant. RS=Restrictions as follows

1= Bulk Item; All programs EXCEPT Food Pantries may order these items.

		ries, Soup Kitchens and She	*=Yes				Available in	Available in	
Item	Description	Packing	for HPNAP	Case Wt.	Charge PerLB	Charge Per Unit	Latham 12/08/2023	Cornwall 12/08/2023	
25-Snac	k Foods/Cookies (Cont'd)								
5227	SPICY QUESO POPCORNERS	18/3 OZ BAGS		5	\$0.16/LB	\$0.80	0	102	
9000	SWEET POTATO VEGGIE CRISPS	10/6.25 OZ BAGS		5	\$0.16/LB	\$0.80	0	109	
8008	TORTILLA CHIPS - UNCOOKED	32 LB BAG		35	\$0.16/LB	\$5.60	29	0	
26-Cond	diments								
150	ASSORTED CONDIMENTS & PICKLES	ASSORTED PACK SIZES	*	40	\$0.16/LB	\$6.40	0	32	
5340	BLACK BEAN SAUCE - FERMENTED	6 / 13 OZ GLASS JARS	*	8	\$0.16/LB	\$1.28	0	65	
3112	CRUSHED GREEN TOMATO	6/6LB 3 OZ CANS	*	38	\$0.16/LB	\$6.08	12	0	
2428	RIZA ORGANIC HOT SAUCE	12/5 OZ GLASS BOTTLES	*	8	\$0.16/LB	\$1.28	0	16	
3553	SEGA HOT SAUCE	12/5 OZ GLASS BOTTLES	*	8	\$0.16/LB	\$1.28	0	33	
3146	TROPICAL CHAMOY SAUCE	12 / 12 OZ GLASS BOTTLES	s *	16	\$0.16/LB	\$2.56	0	75	
3133	VEGETABLE UMAMI - ORGANIC	6/9.3 OZ GLASS JARS	*	8	\$0.16/LB	\$1.28	0	23	
8301	YONDU VEGETABLE UMAMI - ORGANIC	12/5.1 OZ GLASS JARS	*	9	\$0.16/LB	\$1.44	0	29	
9134	ZANA ORGANIC HOT SAUCE	12/5 OZ GLASS BOTTLES	*	8	\$0.16/LB	\$1.28	0	15	
<b>27-Vege</b> 8583	tables Canned/Frozen GOOD AND GATHER - PINTO BEANS	12 - 15.5 OZ CANS	*	13	\$0.16/LB	\$2.08	54	0	
	FROZEN	N SECTION OF DONA	TED IN	VENT	ORY				
<b>04-Brea</b> 9879	d/Bakery ASSORTED READY TO EAT BREAD-FREE!	ASSORTED PACK SIZES	*	15	\$0.00/LB	\$0.00	76	40	
5090	SOURDOUGH BOULE	24CT BULK BAG	*	13	\$0.16/LB	\$2.08	33	0	1
20250	SWEET BREAD DOUGH	BULK	*	40	\$0.16/LB	\$6.40	62	0	1
5216	UDI'S HOT DOG ROLLS - GF	12/12 COUNT BAGS		6	\$0.16/LB	\$0.96	0	41	
5706	WHITE BREAD DOUGH	6/5 LOAF BAGS		30	\$0.16/LB	\$4.80	43	0	1
	s/Entrees/Soups								
184	ASSORTED ENTREES	ASSORTED PACK SIZES	*	25	\$0.16/LB	\$4.00	0	20	
5722	BUFFALO CHEDDAR PRETZEL BITES	6/13 OZ BOXES	*	6	\$0.16/LB	\$0.96	0	168	
3111	BULK MINESTRONE SOUP LS	4/11.75 LB BAGS	*	48	\$0.16/LB	\$7.68	0	12	1
5011	PEPPERONI PIZZA	12/15 OZ. PIZZAS	*	12	\$0.16/LB	\$1.92	112	0	

## **DONATED INVENTORY**

Items on this page that are marked with an asterisk (\*) may be paid for by the HPNAP Food Grant. RS=Restrictions as follows

1= Bulk Item; All programs EXCEPT Food Pantries may order these items.

Item	Description	Packing	*=Yes for HPNAP	Case Wt.	Charge PerLB	Charge Per Unit	Available in Latham 12/08/2023	Available in Cornwall 12/08/2023	RS
08-Dess									
9881	ASSORTED READY TO EAT DESSERTS- TARTS, PIES- FREE!	ASSORTED PACK SIZES		15	\$0.00/LB	\$0.00	122	36	
15-Meat	/Fish/Poultry								
165	ASSORTED BEEF	ASSORTED PACK SIZES	*	35	\$0.16/LB	\$5.60	0	23	
189	ASSORTED DELI	ASSORTED PACK SIZES	*	25	\$0.16/LB	\$4.00	0	20	
167	ASSORTED PORK	ASSORTED PACK SIZES	*	35	\$0.16/LB	\$5.60	0	35	
166	ASSORTED POULTRY	ASSORTED PACK SIZES	*	35	\$0.16/LB	\$5.60	0	114	
188OS	ASSORTED SEAFOOD (ON SITE)	ASST. 30 LB. AVG.	*	30	\$0.16/LB	\$4.80	259	0	1
9200	CHICKEN WINGS	10/1.5-2 LB TRAYS	*	20	\$0.16/LB	\$3.20	0	14	
VAP08	CORNISH HENS FULLY COOKED-Prepared by Brook's BBQ	12 COUNT BIRD	*	7	\$3.65/LB	\$25.56	2,350	66	
2590	MARINATED CHICKEN BREASTS	8/1-1.25 LB PACKS	*	11	\$0.16/LB	\$1.76	0	21	
20323	NNY HOT DOGS -LIMIT 3 CASES- FREE!	10/1 LB PACK	*	10	\$0.00/LB	\$0.00	142	0	
20322	NNY SWEET ITALIAN SAUSAGE PATTIES- LIMIT 4CS-FREE!	24/1 LB PACK	*	24	\$4.00/LB	\$96.00	52	0	
VAP09	ROTISSERIE CHICKENS- FULLY COOKED	12/2.5 LB BIRD	*	30	\$2.33/LB	\$69.85	247	0	
	Pepared by Brooks BBQ								
<b>23-Non-l</b> 8562	Meat Protein PLANT BASED EGG PRODUCT	9/12 OZ. BOTTLES	*	7	\$0.16/LB	\$1.12	416	0	
27-Vege 29-Doug	tables Canned/Frozen								
8640	ASST. COOKIE DOUGH	144 CT. DOUGH PUCKS. E	BULK E *	15	\$0.16/LB	\$2.40	1,055	0	1
	REFRIGERA	ATED SECTION OF D	ONATE	) INV	ENTORY	•			
	d/Bakery								
2	BAKED GOODS order by the pound- FREE!	20 LB AVG; order the # of p	ounds	1	\$0.00/LB	\$0.00	4,033	1,850	
1	BREAD	1/1 LB; order the # of loaves	s you v *	1	\$0.16/LB	\$0.16	13,506	1,488	
)7-1 Dai	ry MILK								
2458	CHOCOLATE MILK - BEST USE BY 12/10/23	12/32 OZ PLASTIC	*	15	\$0.00/LB	\$0.00	41	0	
20305	CHOCOLATE MILK BEST BY 12/9/23	9/ 1/2 GAL JUGS	*	43	\$0.00/LB	\$0.00	20	0	
20068	NNY MILK - FREE!	9 HALF GALLONS	*	38	\$0.00/LB	\$0.00	0	61	
	r Products d/Assorted								

### **DONATED INVENTORY**

Items on this page that are marked with an asterisk (\*) may be paid for by the HPNAP Food Grant. RS=Restrictions as follows

1= Bulk Item; All programs EXCEPT Food Pantries may order these items.

4= Only Food Pantries, Soup Kitchens and Shelters may order these items.

Item	Description	Packing	*=Yes for HPNAP	Case Wt.	Charge PerLB	Charge Per Unit	Available in Latham 12/08/2023	Available in Cornwall 12/08/2023	RS
16-Mixe	d/Assorted (Cont'd)		1111011						
111	ASSORTED COOLER- Order by the pound!	AVG. WT. 20LB	*	1	\$0.16/LB	\$0.16	43,487	102,097	
<b>23-Non-l</b> 20029	Meat Protein  NNY EGGS LARGE -FREE!-LIMIT 20 CASES	15 DOZEN	*	27	\$0.00/LB	\$0.00	794	696	
28-Prod	uce								
3102	APPLES BAGGED	12/3 LB BAGS	*	39	\$0.00/LB	\$0.00	85	0	
3101	APPLES LOOSE	LOOSE CASE	*	40	\$0.00/LB	\$0.00	1,098	209	
3100	FREE PRODUCE order by the pound!	40 LB AVG	*	1	\$0.00/LB	\$0.00	47,575	4,664	
9961	ONIONS	50 LB BAG	*	50	\$0.00/LB	\$0.00	0	226	

### **COOP INVENTORY**

Items on this page that are marked with an asterisk (\*) may be paid for by the HPNAP Food Grant.

RS=Restrictions as follows

1= Bulk Item; All programs EXCEPT Food Pantries may order these items.

4= Only Food Pantries, Soup Kitchens and Shelters may order these items.

	COOP pricing is subject to change without notice due to market pricing									
Item	Description	Packing	*=Yes for HPNAP	Case Wt.	Charge Per Unit	Available in Latham 12/08/2023	Available in Cornwall 12/08/2023	RS		
	DRY	SECTION OF COO	P INVEN	TORY						
01-Non-F										
1612	PURCH. FOOD SERVICE GLOVES EXTRA LARGE	10/100 count box		11	\$36.32	0	0			
	lightly powdered									
1486	PURCH. FOOD SERVICE LARGE SIZED GLOVES	10/100 COUNT BOX		11	\$40.68	117	2			
	Lightly powdered									
1485	PURCH. FOOD SERVICE MEDIUM SIZED GLOVES	10/100 COUNT BOX		11	\$92.46	312	16			
	Lightly powdered									
03-Beve	rages									
1040	PURCH. COFFEE	12/11.5 OZ CONTAINER		10	\$36.15	0	0			
1103	PURCH. DECAF COFFEE	12/11.5 OZ CONTAINER		10	\$40.10	89	0			
1055	PURCH. TEA BAGS	12/100 COUNT BOX		13	\$17.72	0	0			
1000	TOTOTI. TEADAGE	12/100 000NT BOX		10	Ψ17.72	Ü	Ü			
04-Bread	d/Bakery									
1696	PURCH. BLUEBERRY MUFFIN MIX- Just add milk!	12/7 OZ POUCH		6	\$14.00	324	0			
1697	PURCH. CHEDDAR GARLIC BISCUIT MIX -Just add milk	12/7 OZ POUCH	*	6	\$11.85	309	0			

## **COOP INVENTORY**

Items on this page that are marked with an asterisk (\*) may be paid for by the HPNAP Food Grant. RS=Restrictions as follows

1= Bulk Item; All programs EXCEPT Food Pantries may order these items.

4= Only Food Pantries, Soup Kitchens and Shelters may order these items.

Item	Description	Packing	*=Yes for HPNAP	Case Wt.	Charge Per Unit	Available in Latham 12/08/2023	Available in Cornwall RS 12/08/2023
04-Bread/l	Bakery (Cont'd)	-					
1695	PURCH. CHOCOLATE CHIP MUFFIN MIX -Just add milk	12/7.40 OZ POUCH		6	\$14.00	174	0
1649	PURCH. CORN MUFFIN MIX	24/7.5 OZ BOX	*	12	\$17.81	375	0
1067	PURCH. PANCAKE MIX, COMPLETE	12/28 OZ BOX	*	32	\$23.46	1,001	144
1597	PURCH. PANCAKE MIX	12/14 OZ BOX	*	13	\$14.00	296	0
1674	PURCH. PILLSBURY ALL PURPOSE FLOUR	12/2 LB BAG	*	24	\$22.85	149	0
1710	PURCH. PILLSBURY PIZZA CRUST MIX	12/6.50 OZ POUCH	*	5	\$12.58	612	0
1709	PURCH. PILLSBURY PUMPKIN QUICK BREAD BAKING MIX	12/14 OZ BOX	*	11	\$29.72	107	0
<b>05-Cereal</b> 1014	PURCH. CORN FLAKES CEREAL	12/18 OZ BOX	*	14	\$23.80	525	1
1578	PURCH. CRISP RICE CEREAL	12/12 OZ BOX	*	10	\$24.10	327	48
1634	PURCH. INSTANT OATMEAL VARIETY PACK	64/1.35 OZ PACK		6	\$13.16	1,686	289
1010	PURCH. QUICK OATS-WHOLE GRAIN	12/18 OZ CONTAINER	*	14	\$20.25	1,780	158
1177	PURCH. RAISIN BRAN CEREAL-WHOLE GRAIN	12/18.7 OZ BOX		20	\$29.77	21	72
1684	PURCH. STRAWBERRY NUTRI-GRAIN BARS	48/1.30 OZ BAR		4	\$16.43	1,803	134
1689	PURCH. STRAWBERRY NUTRI-GRAIN BITES	6/3.50 OZ BAG		2	\$5.04	0	0
1099	PURCH. TOASTED OATS CEREAL-WHOLE GRAIN	12/14 OZ BOX	*	18	\$25.16	543	46
06-Meals/F	Entrees/Soups						
1270	PURCH. BEEF RAVIOLI 24/15	24/15 OZ. CAN		26	\$25.93	2,283	346
1554	PURCH. BEEF STEW 12/15 OZ	12/15 OZ CAN	*	12	\$27.22	860	70
1525	PURCH. CHICKEN BROTH	24/14.5 OZ CAN	*	25	\$16.63	0	41
1056	PURCH. CHILI WITH BEANS	12/15 OZ.CAN		13	\$21.84	3,409	201
1615	PURCH. CHUNKY CHICKEN NOODLE SOUP	12/15 OZ CAN	*	12	\$20.15	649	309
1614	PURCH. CHUNKY VEGETABLE BEEF SOUP	12/15 OZ CAN	*	12	\$20.15	2,256	186
1001	PURCH. CORNED BEEF HASH	12/15 OZ CAN	*	13	\$29.06	1,607	223
1224	PURCH. CREAM OF MUSHROOM SOUP	24/10.5 OZ. CAN	*	17	\$15.66	284	96

## **COOP INVENTORY**

Items on this page that are marked with an asterisk (\*) may be paid for by the HPNAP Food Grant. RS=Restrictions as follows

1= Bulk Item; All programs EXCEPT Food Pantries may order these items.

4= Only Food Pantries, Soup Kitchens and Shelters may order these items.

Item	Description	Packing	*=Yes for HPNAP	Case Wt.	Charge Per Unit	Available in Latham 12/08/2023	Available in Cornwall 12/08/2023
06-Meals	s/Entrees/Soups (Cont'd)						
1714	PURCH. CREAMY GARLIC SHELLS	12/6.25 OZ BOX	*	6	\$10.27	295	53
1716	PURCH. LASAGNA SKILLET DINNER MIX	12/5.60 OZ BOX	*	5	\$14.84	109	78
1129	PURCH. MACARONI & CHEESE	24/7.25 OZ BOX	*	14	\$15.12	4,145	188
1506	PURCH. PASTA IN TOMATO SAUCE	12/15 OZ CAN		13	\$12.43	1,043	79
1721	PURCH. PASTA W/ GARDEN VEGETABLES IN TOMATO SAUCE	24/8 OZ POUCH	*	12	\$22.06	1,273	128
	Ready to eat						
1035	PURCH. PORK & BEANS	24/16 OZ. CAN		28	\$23.35	2,043	35
1686	PURCH. RICE W/ CHICKEN & VEGETABLE MW BOWL	12/7.25 OZ MW BOWL	*	6	\$14.30	1,289	218
1659	PURCH. SCALLOPED POTATOES	12/4.4 OZ BOX	*	4	\$16.24	276	87
1687	PURCH. SPAGHETTI RINGS & MEATBALLS	24/15 OZ CAN	*	23	\$26.49	2,454	93
1701	PURCH. STARKIST LATIN CITRUS SMART BOWLS	12/4.5 OZ POUCH	*	4	\$13.44	227	153
	Quinoa & Beans w/ Tuna						
1702	PURCH. STARKIST TOMATO BASIL SMART BOWLS	12/4.5 OZ POUCH	*	4	\$13.44	143	160
	Barley & Beans w/ Tuna						
1700	PURCH. STARKIST TUNA SALAD	12/ 3.28 OZ	*	3	\$13.16	16	64
1198	PURCH. TOMATO SOUP	24/10.75 OZ. CAN	*	17	\$19.04	1,810	127
1720	PURCH. WHITE CHICKEN CHILI POUCH- Ready to eat	24/8 OZ POUCH	*	12	\$24.81	1,381	0
07 Daim	. Draducta						
1080	/ Products PURCH. 1% SHELF STABLE CHOCOLATE MILK	27/8 OZ CARTON		15	\$14.56	351	1
	Individual corving cize						
	Individual serving size						
1143	PURCH. 1% SHELF STABLE WHITE MILK (QUARTS)	12/ 32 OZ CARTONS	*	27	\$19.60	125	2
1078	PURCH. 1% SHELF STABLE WHITE MILK	24/8 OZ CARTON	*	15	\$14.34	2,025	0
	Individual serving size						
<b>09-Dres</b> :	SING PURCH. ITALIAN SALAD DRESSING	12/16 OZ. BOTTLE	*	15	\$20.61	0	0
1053	PURCH. RANCH SALAD DRESSING	12/16 OZ. BOTTLE	*	15	\$22.58	0	15
10-Fruit	s Canned/Frozen						
1607	PURCH. APPLESAUCE CUPS-UNSWEETENED	96/4.5 OZ CUPS	*	27	\$32.48	634	79

## **COOP INVENTORY**

Items on this page that are marked with an asterisk (\*) may be paid for by the HPNAP Food Grant. RS=Restrictions as follows

1= Bulk Item; All programs EXCEPT Food Pantries may order these items.

4= Only Food Pantries, Soup Kitchens and Shelters may order these items.

			*=Yes for	Case	Charge	Available in Latham	Available in Cornwall RS
Item	Description	Packing	HPNAP	Wt.	Per Unit	12/08/2023	12/08/2023
	Canned/Frozen (Cont'd)						
1051	PURCH. FRUIT COCKTAIL -UNSWEETENED	24/15 OZ CAN	*	30	\$30.80	0	50
1552	PURCH. MANDARIN ORANGES - UNSWEETENED	24/11 OZ CAN	*	24	\$24.08	485	92
1006	PURCH. PEACHES-UNSWEETENED	24/15 OZ CAN	*	25	\$32.22	961	141
1466	PURCH. PEARS-UNSWEETENED	24/15 OZ CANS	*	24	\$27.97	924	134
1022	PURCH. PINEAPPLE - UNSWEETENED	24/20 OZ CAN	*	33	\$38.52	1,904	130
12-Hoalth	n/Beauty Care						
1682	PURCH. 3 IN 1 SHAMPOO, CONDITIONER & WASH	12/12 OZ BOTTLE		9	\$10.98	836	99
1685	PURCH. BABY WIPES - SOFT SCENT	12/72 COUNT PACK		11	\$12.88	307	0
1711	PURCH. CLEAR WATER BODY WASH	12/12 OZ BOTTLE		9	\$10.44	555	94
1683	PURCH. KIDS 3 IN SHAMP/COND/WASH	12/12 OZ BOTTLE		9	\$15.36	893	42
13-Clean	ing Products						
1713	PURCH. DISH SOAP- FRESH LEMON	8/24 OZ BOTTLE		12	\$7.77	0	0
1722	PURCH. DISH SOAP -LEMON SCENT	12/24 OZ BOTTLES		21	\$7.81		
1712	PURCH. LAUNDRY DETERGENT- MOUNTAIN RAIN	12/22 OZ BOTTLE		20	\$14.36	583	0
1401	PURCH. LAUNDRY DETERGENT	12/25 OZ		26	\$12.04	0	0
14-Juices	8						
1449	PURCH. 100% APPLE JUICE	8/64 OZ BOTTLE	*	38	\$19.56	0	0
1470	PURCH. 100% FRUIT PUNCH	8/64 OZ. BOTTLE	*	32	\$21.57	754	39
1639	PURCH. 100% GRAPE JUICE	8/64 OZ BOTTLE	*	32	\$26.28	1,130	35
1063	PURCH. 100% JUICE BOXES	32/6.75 OZ PACK	*	17	\$11.09	1,512	45
1694	PURCH. STRAWBERRY WATERMELON JUICE	8/64 OZ BOTTLE	*	32	\$26.28	203	1
15_Moa+/	Fish/Poultry						
1465	PURCH. CANNED CHICKEN BREAST	24/5 OZ CAN	*	10	\$25.26	91	93
1625	PURCH. CHICKEN BREAST-Ready to eat	36/10 OZ POUCH	*	23	\$43.99	1,581	0
1038	PURCH. TUNA, IN WATER	48/5 OZ.CAN	*	23	\$45.16	411	133

## **COOP INVENTORY**

Items on this page that are marked with an asterisk (\*) may be paid for by the HPNAP Food Grant. RS=Restrictions as follows

1= Bulk Item; All programs EXCEPT Food Pantries may order these items.

4= Only Food Pantries, Soup Kitchens and Shelters may order these items.

ltem	Description	Packing	*=Yes for HPNAP	Case Wt.	Charge Per Unit	Available in Latham 12/08/2023	Available in Cornwall 12/08/2023	RS
16-Mixed/A	Assorted (Cont'd) PURCH. GRAHAM CRACKERS	12/10 OZ BOX	*	15	\$15.57	660	112	
1008	PURCH. SALTINE CRACKERS	12/16 OUNCE BOX	*	15	\$16.84	710	29	
1162	PURCH. STUFFING MIX	12/6 OZ BOX	*	7	\$14.85	0	0	
19-Panor I	Products-Household							
1653	PURCH. 12 OZ COLD CUP	1000/12 OZ CUP		15	\$73.11	91	0	
1211	PURCH. 55 GALLON TRASH CAN LINERS	38 X 60, 100/55 gallon		21	\$37.32	133	0	
1205	PURCH. ALUMINUM FOIL	18" X 500' ROLL PER BOX		7	\$34.90	0	0	
1007	PURCH. BATHROOM TISSUE	96 ROLLS PER BOX		46	\$40.30	82	1	
1515	PURCH. COMPOSTABLE PAPER BOWLS	1000-12 OZ BOWLS		21	\$108.58	10	0	
1516	PURCH. COMPOSTABLE PAPER CUPS	1000-8 OZ CUPS		20	\$113.22	49	5	
1517	PURCH. COMPOSTABLE PAPER PLATES	500-9" PAPER PLATES		19	\$67.00	24	16	
1309	PURCH. FACIAL TISSUE	100 CT/ 30 BOX		11	\$26.79	47	6	
1556	PURCH. HEAVY DUTY PAPER BAGS W/ HANDLES	300 PER BUNDLE		44	\$71.02	0	0	
1652	PURCH. HINGED TAKE OUT CONTAINER	200 UNITS (8 X 8 X 3)		15	\$60.85	0	0	
1202	PURCH. NAPKINS	12/500 COUNT BOX		33	\$48.60	254	17	
1400	PURCH. PAPER TOWELS	30 ROLLS PER CASE		15	\$29.78	26	16	
1209	PURCH. PLASTIC FORKS	1000 COUNT PER CASE		7	\$12.99	128	0	
1580	PURCH. PLASTIC BAGS	500 PER BOX		15	\$25.54	68	10	
1308	PURCH. PLASTIC COLD CUPS	2500/5 OZ PACK		21	\$79.98	197	8	
1208	PURCH. PLASTIC KNIVES	1000 COUNT PER CASE		7	\$22.34	271	67	
1210	PURCH. PLASTIC SPOONS	1000 COUNT		7	\$34.14	0	0	
1276	PURCH. PLASTIC WRAP	1 ROLL,18" X 2000'		10	\$26.23	73	0	
<b>21-Pasta</b> 1104	PURCH. EGG NOODLES	12/12 OZ PACK	*	12	\$12.48	2,512	0	
1049	PURCH. ELBOW MACARONI	20/14 OZ BAG	*	22	\$18.14	266	0	

## **COOP INVENTORY**

Items on this page that are marked with an asterisk (\*) may be paid for by the HPNAP Food Grant. RS=Restrictions as follows

1= Bulk Item; All programs EXCEPT Food Pantries may order these items.

4= Only Food Pantries, Soup Kitchens and Shelters may order these items.

<b>21-Pasta (</b> 1121	(Cont'd) PURCH. NOODLES & ALFREDO SAUCE		HPNAP	Wt.	Per Unit	Latham 12/08/2023	Cornwall 12/08/2023	RS
1121	PURCH. NOODLES & ALFREDO SAUCE							
		12/6.25 OZ PACKS		6	\$9.77	0	0	
1050	PURCH. SPAGHETTI	20/16 OZ BOX	*	22	\$17.67	0	0	
1183	PURCH. ZITI	20/14 OZ BOX	*	22	\$17.90	0	0	
00 Nau M	eat Protein							
1328	PURCH. BLACK BEANS- LOW SODIUM	24/15 OZ CAN	*	35	\$17.91	1,174	65	
1065	PURCH. CREAMY PEANUT BUTTER	12/18 OZ. JAR	*	21	\$23.77	3,162	38	
1474	PURCH. DRY BLACK BEANS	24/1 LB BAGS	*	27	\$25.65	0	0	
1473	PURCH. DRY GARBANZO BEANS	24/1 LB BAGS	*	27	\$27.89	322	42	
1475	PURCH. DRY KIDNEY BEANS	24/1 LB BAGS	*	27	\$31.25	150	19	
1174	PURCH. KIDNEY BEANS- LOW SODIUM	24/15 OZ. CAN	*	30	\$17.37	919	62	
1664	PURCH. REFRIED BEANS W/ CHIPOTLE PEPPERS	12/15.5 OZ CAN		14	\$15.93	0	66	
24-Rice 1680	PURCH. BEEF FLAVORED RICE MIX	36/5 OZ PACK	*	12	\$23.02	0	0	
1521	PURCH. BROWN RICE - WHOLE GRAIN	24/1LB BAG	*	26	\$18.93	649	96	
1496	PURCH. CHEDDAR BROCCOLI RICE	12/ 6.25 OZ	*	4	\$15.12	761	82	
1681	PURCH. CHICKEN FLAVORED RICE MIX	36/5 OZ PACK	*	12	\$22.90	0	0	
1640	PURCH. CHICKEN FLAVORED RICE	12/6.25 OZ BOX	*	6	\$14.00	606	70	
1679	PURCH. SPANISH RICE W/ BELL PEPPERS	12/6.25 OZ	*	5	\$14.00	563	104	
1030	PURCH. WHITE RICE	24/1 LB. BAG	*	26	\$18.93	1,185	67	
25-Snack 1266	Foods/Cookies PURCH. HUNTS CHOCOLATE PUDDING	12/4 CT PACK		15	\$18.30	671	38	
1678	PURCH. HUNTS VANILLA PUDDING	12/4 COUNT CUP		15	\$18.30	606	75	
1719	PURCH. STRAWBERRY & ORANGE GEL CUPS	48/3.5 OZ CUPS		11	\$16.69	310	70	
1688	PURCH. TIGER BITES GRAHAM CRACKERS	150/1 OZ BAG		10	\$33.13	0	12	
26-Condin 1156	ments PURCH. JELLIED CRANBERRY SAUCE	24/14 OZ.CAN		28	\$30.80	684	56	

# **COOP INVENTORY**

Items on this page that are marked with an asterisk (\*) may be paid for by the HPNAP Food Grant. RS=Restrictions as follows

1= Bulk Item; All programs EXCEPT Food Pantries may order these items.

4= Only Food Pantries, Soup Kitchens and Shelters may order these items.

			*=Yes			Available in	Available in	$\dashv$
Item	Description	Packing	for HPNAP	Case Wt.	Charge Per Unit	Latham 12/08/2023	Cornwall 12/08/2023	RS
26-Condi	ments (Cont'd)							
1190	PURCH. 4LB. SUGAR	10/4 LB BAG	*	41	\$41.10	0	0	
1638	PURCH. CANOLA OIL	12/24 OZ BOTTLE	*	18	\$28.36	14	0	
1046	PURCH. MAYONNAISE	12/32 OZ.PLASTIC JAR	*	33	\$37.80	983	18	
1630	PURCH. PANCAKE SYRUP	6/27 OZ BOTTLE	*	11	\$20.38	1,682	39	
1715	PURCH. SALT & PEPPER SHAKER SET	12/5 OZ SET	*	4	\$11.88	286	17	
1573	PURCH. SPAGHETTI SAUCE- canned	12/15 OZ CAN	*	12	\$14.45	3,870	33	
1150	PURCH. SPAGHETTI SAUCE	12/32 OZ JAR	*	36	\$35.43	1,081	101	
1227	PURCH. SQUEEZE GRAPE JELLY	12/19 OZ BOTTLE	*	18	\$18.46	1,879	70	
1228	PURCH. SQUEEZE STRAWBERRY JELLY	12/19 OZ BOTTLE	*	18	\$18.46	2,061	91	
1241	PURCH. TOMATO KETCHUP	12/24 OZ BOTTLE	*	20	\$15.67	385	7	
1571	PURCH. TURKEY GRAVY - 12/10.5 OZ	12/10.5 OZ CAN		8	\$10.60	3,102	0	
1023	PURCH. TURKEY GRAVY	24/10.5 OZ CAN		16	\$21.84	0	202	
1012	PURCH. VEGETABLE OIL, PURE	12/32 OZ BOTTLE	*	26	\$41.13	1,254	9	
1529	PURCH. YELLOW MUSTARD	12/20 OZ BOTTLE	*	15	\$15.30	0	0	
1708	PURCH. YELLOW MUSTARD	12/12 OZ BOTTLE	*	9	\$12.76	0	18	
27 \/o mot	ables Canned/Frozen							
1660	PURCH. CANNED COLLARD GREENS - LOW SODIUM	12/14 OZ CAN	*	11	\$17.81	278	63	
1658	PURCH. CREAMED CORN	24/15 OZ CAN		24	\$21.17	1,467	133	
1562	PURCH. DICED TOMATOES -LOW SODIUM	24/14.5 OZ CAN	*	29	\$19.60	0	63	
1606	PURCH. DICED TOMATOES	12/14.5 OZ CAN	*	11	\$7.82	2,762	0	
1036	PURCH. GREEN BEANS - LOW SODIUM	24/16 OZ. CAN	*	28	\$25.20	1,059	129	
1068	PURCH. INSTANT MASHED POTATOES	12/13.3 OZ. BOX	*	15	\$32.93	920	115	
1181	PURCH. MIXED VEGETABLES -LOW SODIUM	24/14 OZ. CAN	*	28	\$22.34	3,249	133	
1703	PURCH. ORGANIC LIBBY'S CANNED PUMPKIN	24/15 OZ CAN	*	23	\$42.20	182	0	

# **COOP INVENTORY**

Items on this page that are marked with an asterisk (\*) may be paid for by the HPNAP Food Grant. RS=Restrictions as follows

1= Bulk Item; All programs EXCEPT Food Pantries may order these items.

4= Only Food Pantries, Soup Kitchens and Shelters may order these items.

Item	Description	Packing	*=Yes for HPNAP	Case Wt.	Charge Per Unit	in Latham 12/08/2023	in Cornwall 12/08/2023	
27-Veget	ables Canned/Frozen (Cont'd)							
1118	PURCH. PEAS -LOW SODIUM	24/14.5 OZ. CAN	*	28	\$22.67	2,082	107	
1032	PURCH. SLICED CARROTS-LOW SODIUM	24/14.5 OZ CAN	*	28	\$21.02	737	87	
1081	PURCH. WHOLE KERNEL CORNLOW SODIUM	24/14.5 OZ CAN	*	30	\$20.09	1,243	64	
1200	PURCH. YAMS/SWEET POTATOES	24/15 OZ CAN	*	28	\$24.58	0	2	
1611	PURCH. YAMS/SWEET POTATOES	12/15 OZ CAN	*	12	\$18.70	0	110	
	FROZE	N SECTION OF C	OOP INVE	NTORY				
	s/Entrees/Soups							
1717	PURCH. PUMPKIN & BUTTERNUT SQUASH RISOTTO	14/16 OZ BAG	*	14	\$15.52	288	0	
10-Fruite	Canned/Frozen							
1669	PURCH. FROZEN MIXED BERRY BLEND	12/1 LB BAG	*	12	\$28.45	114	105	
1670	PURCH. FROZEN STRAWBERRIES	12/1 LB BAG	*	12	\$23.18	101	0	
15 Moat/	Fish/Poultry							
1016	PURCH. 10-12 LB TURKEY LEAN MEAT	4/10-12 LB. BOX	*	48	\$119.21	1,533	41	
1381	PURCH. 14-16 LB. TURKEYLEAN MEAT	4/12-16 LB BIRDS	*	60	\$124.10	121	0	
1106	PURCH. BACON: not HPNAP eligible	24/1 LB PACK		26	\$77.68	0	0	
1058	PURCH. BOLOGNA	12/1 LB PACK	*	13	\$19.22	325	152	
1704	PURCH. BONE-IN PORKCHOPS	10/2 LB PACK	*	20	\$38.98	0	0	
1114	PURCH. BONELESS PORK CHOPS-LEAN MEAT	10/2 LB PACKS	*	22	\$72.80	634	0	
1559	PURCH. BREADED CHICKEN NUGGETS	10/2 LB BOX	*	20	\$41.22	0	0	
1656	PURCH. BREADED CHICKEN PATTIES	10/2 LB PACK	*	20	\$41.22	0	0	
1412	PURCH. BREADED FISH STICKS	12/16 OZ BAG	*	13	\$27.71	0	0	
1632	PURCH. BREAKFAST SAUSAGE LINKS	20/ 8 OZ PACK	*	10	\$28.22	0	0	
1718	PURCH. CHICKEN BREAST PORTIONS	10/1 LB PACK	*	11	\$26.77	0	2	
1343	PURCH. CHICKEN DRUM STICKS - LEAN MEAT	8/5 LB BAG	*	40	\$25.54	0	0	
1706	PURCH. CHICKEN FRANKS	24/1 LB PACK	*	24	\$34.14	269	0	
1011	PURCH. CHICKEN LEG QUARTERS - LEAN MEAT	8/5 LB BAGS	*	42	\$92.20	0	0	

## **COOP INVENTORY**

Items on this page that are marked with an asterisk (\*) may be paid for by the HPNAP Food Grant. RS=Restrictions as follows

1= Bulk Item; All programs EXCEPT Food Pantries may order these items.

4= Only Food Pantries, Soup Kitchens and Shelters may order these items.

Item	Description	Packing	*=Yes for HPNAP	Case Wt.	Charge Per Unit	Available in Latham 12/08/2023	Available in Cornwall R 12/08/2023
	t/Fish/Poultry (Cont'd)						
1440	PURCH. CHICKEN SPLIT BREAST TRAY - LEAN MEAT	10/4 LB TRAY PACK	*	40	\$71.19	2	0
1662	PURCH. CHICKEN TENDERLOINLEAN MEAT	12/3 LB PACK	*	36	\$22.90	0	0
1629	PURCH. CHICKEN THIGHS- BONELESS	12/3 LB BAG	*	36	\$31.40	0	0
1039	PURCH. DELI SLICED HONEY HAM	12/16 OZ PACK	*	14	\$36.29	0	0
1484	PURCH. DELI SLICED OVEN ROASTED TURKEY	16/10 OZ PACK	*	14	\$52.53	158	0
1100	PURCH. GROUND BEEF - 80/20	20/1 LB PACK	*	21	\$62.50	199	47
1668	PURCH. GROUND BEEF- 80/20	10/1 LB CHUB	*	10	\$31.25	69	101
1127	PURCH. GROUND BEEF- 90/10 -LEAN MEAT	20/1 LB PACK	*	22	\$73.70	629	0
1671	PURCH. GROUND BEEF 90/10- LEAN MEAT	10/1 LB CHUB	*	10	\$38.64	181	140
1643	PURCH. GROUND BEEF, HALAL	12/1 LB PACK	*	12	\$67.07	0	0
1491	PURCH. GROUND CHICKEN	10/ 1 LB PACK	*	10	\$25.87	409	1
1236	PURCH. GROUND TURKEY	12/1 LB. PACK	*	14	\$28.09	0	0
1705	PURCH. HALAL CHICKEN DRUMSTICKS	8/5 LB BAG	*	40	\$26.88	219	0
1420	PURCH. HAM STEAK	16/12 oz pack	*	12	\$54.97	254	0
1655	PURCH. HEAT & SERVE BEEF W/ TACO SEASONING	12/1 LB PACK	*	13	\$41.93	136	0
1021	PURCH. HICKORY SMOKED BONE IN HAM	4/9.5-12.5 LB HAM	*	44	\$112.97	0	0
1488	PURCH. HOLTEN RESTAURANT QUALITY BEEF PATTIES	24-1/4 LB BURGERS	*	6	\$19.82	493	93
1119	PURCH. HOT DOGS	24/1 LB PACK	*	28	\$36.02	284	71
1285	PURCH. ITALIAN STYLE BEEF MEATBALLS	20/1 LB. PACK	*	22	\$64.74	0	0
1568	PURCH. ITALIAN STYLE MEATBALLS	12/1 LB BAG	*	12	\$39.96	0	0
1560	PURCH. POLLOCK FISH FILLETS - LEAN MEAT	12/1 LB BAG	*	12	\$33.47	402	0
1493	PURCH. SMOKED POLISH KIELBASA	15 / 13 OZ PACK	*	12	\$45.05	0	0
1122	PURCH. SWEET ITALIAN SAUSAGE	12/1 LB PACK	*	14	\$43.68	472	0
1363	PURCH. TILAPIA FILLETS	10/1 LB BAG	*	13	\$33.49	0	42

# **COOP INVENTORY**

Items on this page that are marked with an asterisk (\*) may be paid for by the HPNAP Food Grant. RS=Restrictions as follows

1= Bulk Item; All programs EXCEPT Food Pantries may order these items.

4= Only Food Pantries, Soup Kitchens and Shelters may order these items.

			*=Yes for	Case	Charge	Available in Latham	Available in Cornwall RS
Item	Description	Packing	HPNAP	Wt.	Per Unit	12/08/2023	12/08/2023
15-Meat/I	Fish/Poultry (Cont'd) PURCH: TILAPIA FISH FILLETS-LEAN MEAT	12/1 LB BAG	*	14	\$38.84	797	0
1300	FUNCH. HEAFIA FISH FILLETS-LEAN MEAT	12/1 LB BAG		14	<b>\$30.04</b>	191	U
1698	PURCH. TYSON CHICKEN BREAST- BNLS/SKNLS	12/2.5 LB BAG	*	30	\$50.06	0	0
1699	PURCH. TYSON CHICKEN THIGHS- BNLS/SKNLS	12/2.5 LB BAG	*	30	\$50.06	0	0
1654	PURCH. YOUNG WHOLE CHICKENS, HALAL	12/2.5 LB BIRD	*	38	\$77.49	0	0
21-Pasta							
1693	PURCH. 4 CHEESE & SOUR CREAM PIEROGIES	12/10 OZ PACK	*	8	\$13.38	0	0
1692	PURCH. LARGE ROUND RAVIOLI	24/13 OZ PACK	*	20	\$28.39	64	0
1691	PURCH. MEAT TORTELLINI-Beef filled	12/16 OZ PACK	*	12	\$27.55	138	0
1133	PURCH. STUFFED SHELLS	12/18 OZ PACK	*	16	\$23.13	0	0
27-Veget	ables Canned/Frozen						
1187	PURCH. BROCCOLI, CAULIFLOWER & CARROT BLEND	12/1 LB BAG	*	13	\$17.73	0	0
1707	PURCH. BRUSSEL SPROUTS	12/1 LB BAG	*	12	\$19.92	69	0
1650	PURCH. CHOPPED SPINACH	12/1 LB PACK	*	12	\$19.32	145	0
1534	PURCH. FROZEN BROCCOLI FLORETS	12/1 LB BAG	*	12	\$19.71	0	0
1282	PURCH. FROZEN CARROTS	12/1LB. BAG	*	14	\$15.51	0	0
1357	PURCH. FROZEN CORN	12/1 LB BAG	*	14	\$18.14	0	0
1535	PURCH. FROZEN CUT GREEN BEANS	12/1 LB BAG	*	12	\$16.52	0	0
1657	PURCH. FROZEN ITALIAN BLEND	12/1 LB BAG	*	12	\$17.92	0	0
	Carrots,Zucchini,Cauliflower,Green Beans & Lima Beans						
1410	PURCH. FROZEN PEAS	12/1 LB BAG	*	14	\$18.95	4	0
1651	PURCH. FROZEN PEPPERS & ONIONS	12/1 LB BAG	*	12	\$18.26	0	0
1524	PURCH. HASHBROWN PATTY	12/20 COUNT PACK	*	36	\$70.67	0	0
1061	PURCH. TATER TOTS	12/2 LB BAG	*	26	\$33.04	0	0
	REFRIGERA	TED SECTION C	F COOP II	NVENTO	ORY		
07-Dairv	Products						
1550	PURCH. SALTED BUTTER	36/1 LB. PACK	*	37	\$161.68	153	57

### **COOP INVENTORY**

Items on this page that are marked with an asterisk (\*) may be paid for by the HPNAP Food Grant. RS=Restrictions as follows

1= Bulk Item; All programs EXCEPT Food Pantries may order these items.

4= Only Food Pantries, Soup Kitchens and Shelters may order these items.

COOP pricing is subject to change without notice due to market pricing

			*=Yes for	Case	Charge	Available in Latham	Available in Cornwall	RS
Item	Description	Packing	HPNAP	Wt.	Per Unit	12/08/2023	12/08/2023	
07-Dairy	Products (Cont'd)							
1108	PURCH. SHREDDED CHEDDAR CHEESE	12/8 OZ BAG	*	7	\$27.54	157	0	
1185	PURCH. SHREDDED MOZZARELLA CHEESE	12/8 OZ.BAG	*	7	\$27.54	155	0	
1551	PURCH. SHREDDED PIZZA BLEND CHEESE	12/8 OZ BAG	*	12	\$27.54	19	0	
1037	PURCH. WHITE AMERICAN CHEESE SLICES	12/12 OZ. PACK	*	11	\$30.80	96	0	
28-Produ	Ca							
1052	HPNAP APPLES-Free to HPNAP Agencies	12/3 LB.	*	38	\$32.48	0	0	
1460	HPNAP APPLES-Free to HPNAP Agencies	8/5 lb bag	*	41	\$21.28	0	0	
1291	HPNAP CABBAGE-Free to HPNAP Agencies	loose bag	*	50	\$7.84	0	0	
1160	HPNAP CARROTS -Free to HPNAP Agencies	loose	*	24	\$6.72	125	0	
	Free to HPNAP agencies							
1435	HPNAP ONIONS-Free to HPNAP Agencies	16/3 LB.	*	48	\$11.20	0	0	
1060	HPNAP POTATOES-Free to HPNAP Agencies	10/5 LB.	*	50	\$11.20	0	0	

### **USDA INVENTORY**

Items on this page that are marked with an asterisk (\*) may be paid for by the HPNAP Food Grant.

RS=Restrictions as follows  1= Bulk Item; All programs EXCEPT Food Pantries may order these items.  4= Only Food Pantries, Soup Kitchens and Shelters may order these items.										
Description	Packing	*=Yes for HPNAP	Case Wt.	Charge PerLB	Charge Per Unit	Available in Latham 12/08/2023	Available in Cornwall 12/08/2023	RS		
DRY	SECTION OF USD	A INVEN	ΓORY							
/Entrees/Soups USDA BEEF STEW POUCH -100526	24/24 OZ POUCHES	*	28	\$0.00/LB	\$0.00	697	0	4		
USDA MAC AND CHEESE-110960	24 / 7.25 OZ BOXES	*	12	\$0.00/LB	\$0.00	1,056	236	4		
USDA VEGETABLE SOUP- LOW SODIUM -100321	24 / 10.5 OZ CAN	*	18	\$0.00/LB	\$0.00	0	182	4		
Canned/Frozen USDA DRIED CHERRIES-100298	8/2LB PACKAGES	*	17	\$0.00/LB	\$0.00	640	208	4		
USDA DRIED DATE PIECES WITH RICE FLOUR -111530	24/ 1 POUND BAGS	*	24	\$0.00/LB	\$0.00	1,543	0	4		
USDA RAISINS- IND. SERVING -100293	24/6/1.33 OZ CARTON	*	12	\$0.00/LB	\$0.00	2,425	349	4		
	Description  DRY S  Entrees/Soups USDA BEEF STEW POUCH -100526  USDA MAC AND CHEESE-110960  USDA VEGETABLE SOUP- LOW SODIUM -100321  Canned/Frozen USDA DRIED CHERRIES-100298  USDA DRIED DATE PIECES WITH RICE FLOUR -111530	1= Bulk Item; All programs EXCEPT Food Parties, Soup Kitchens and Support Food Parties, Soup	1= Bulk Item; All programs EXCEPT Food Pantries may 4= Only Food Pantries, Soup Kitchens and Shelters may  *=Yes for HPNAP  DRY SECTION OF USDA INVENT  Entrees/Soups USDA BEEF STEW POUCH -100526  24/24 OZ POUCHES  *  USDA MAC AND CHEESE-110960  24 / 7.25 OZ BOXES  *  USDA VEGETABLE SOUP- LOW SODIUM -100321  24 / 10.5 OZ CAN  *  Canned/Frozen USDA DRIED CHERRIES-100298  8/2LB PACKAGES  *  USDA DRIED DATE PIECES WITH RICE FLOUR -111530  24/1 POUND BAGS  *	1= Bulk Item; All programs EXCEPT Food Pantries may order th 4= Only Food Pantries, Soup Kitchens and Shelters may order th  *=Yes for HPNAP  DRY SECTION OF USDA INVENTORY  Entrees/Soups USDA BEEF STEW POUCH -100526  24/24 OZ POUCHES  * 28  USDA MAC AND CHEESE-110960  24 / 7.25 OZ BOXES  * 12  USDA VEGETABLE SOUP- LOW SODIUM -100321  24 / 10.5 OZ CAN  * 18  Canned/Frozen USDA DRIED CHERRIES-100298  8/2LB PACKAGES  * 17  USDA DRIED DATE PIECES WITH RICE FLOUR -111530  24/ 1 POUND BAGS  * 24	1= Bulk Item; All programs EXCEPT Food Pantries may order these items. 4= Only Food Pantries, Soup Kitchens and Shelters may order these items.  *=Yes for HPNAP  *=Yes for HPNAP  DRY SECTION OF USDA INVENTORY  Entrees/Soups  USDA BEEF STEW POUCH -100526  24/24 OZ POUCHES  * 28 \$0.00/LB  USDA MAC AND CHEESE-110960  24 / 7.25 OZ BOXES  * 12 \$0.00/LB  USDA VEGETABLE SOUP- LOW SODIUM -100321  24 / 10.5 OZ CAN  * 18 \$0.00/LB  Canned/Frozen  USDA DRIED CHERRIES-100298  8/2LB PACKAGES  * 17 \$0.00/LB	1= Bulk Item; All programs EXCEPT Food Pantries may order these items. 4= Only Food Pantries, Soup Kitchens and Shelters may order these items.    South Food Pantries   Soup Kitchens and Shelters may order these items.	Temporary   Temp	1= Bulk Item; All programs EXCEPT Food Pantries may order these items.           4= Only Food Pantries, Soup Kitchens and Shelters may order these items.           bescription         Packing         *=Yes for HPNAP         Case Per Unit         Charge Per Unit         Available in Latham 12/08/2023         Available in Cornwall 12/08/2023           DRY SECTION OF USDA INVENTORY           Entrees/Soups         USDA BEEF STEW POUCH - 100526         24/24 OZ POUCHES         *         28         \$0.00/LB         \$0.00         697         0           USDA MAC AND CHEESE-110960         24 / 7.25 OZ BOXES         *         12         \$0.00/LB         \$0.00         1,056         236           USDA VEGETABLE SOUP- LOW SODIUM -100321         24 / 10.5 OZ CAN         *         18         \$0.00/LB         \$0.00         0         182           Case Per Unit           USDA DRIED CHERRIES-100298         8/2LB PACKAGES         *         17         \$0.00/LB         \$0.00         640         208           USDA DRIED DATE PIECES WITH RICE FLOUR - 111530         24/1 POUND BAGS         *         24         \$0.00/LB         \$0.00         1,543         0		

### **USDA INVENTORY**

Items on this page that are marked with an asterisk (\*) may be paid for by the HPNAP Food Grant. RS=Restrictions as follows

1= Bulk Item; All programs EXCEPT Food Pantries may order these items.

Item	Description	Packing	*=Yes for HPNAP	Case Wt.	Charge PerLB	Charge Per Unit	Available in Latham 12/08/2023	Available in Cornwall 12/08/2023	F
	Canned/Frozen (Cont'd)	0445.07.50	*	0.	****				
U936	USDA RAISINS- UNSWEETENED -100295	24/15 OZ BOX	*	24	\$0.00/LB	\$0.00	2,603	159	4
U933	USDA UNSWEETENED APPLE SAUCE CUPS -110361	96/4.5 OZ CUPS	*	31	\$0.00/LB	\$0.00	70	100	4
15-Meat/F	Fish/Poultry								
910	USDA CANNED PORK-100139	24/24 OZ CANS	*	42	\$0.00/LB	\$0.00	0	48	4
US936	USDA CHUNKED CANNED WHITE CHICKEN-110940	24 / 12.5 OZ CANS	*	24	\$0.00/LB	\$0.00	500	204	4
	Meat Protein								
USD914	USDA LENTILS - 111102	24 / 1LB BAGS	*	24	\$0.00/LB	\$0.00	4,060	143	4
US978	USDA ALMONDS ROASTED WHOLE SHELL- 100393	12 / 2 LB BAGS	*	26	\$0.00/LB	\$0.00	2,671	164	4
USD905	USDA CANNED PINTO BEANS - LOW SODIUM - 110021	24 / 150Z CANS	*	26	\$0.00/LB	\$0.00	1,711	154	4
US900	USDA CHICK PEAS/GARBANZO BEANS-111060- LS- KOSHER	24/15 OZ CAN	*	27	\$0.00/LB	\$0.00	1,756	257	4
USD917	USDA GARBANZO BEANS - 111069 - KOSHER	24/ 1LB BAGS	*	25	\$0.00/LB	\$0.00	4,446	188	4
986	USDA GREAT NORTHERN BEANS - 100380	12/2# BAGS	*	25	\$0.00/LB	\$0.00	2,734	408	4
U980	USDA LENTILS-100388	12/2 LB BAGS	*	24	\$0.00/LB	\$0.00	4,313	161	4
USD928	USDA SHELLED PISTACHIOS -110178	25/1 LB BAGS	*	25	\$0.00/LB	\$0.00	639	107	4
USD924	USDA SPLIT GREEN PEAS - 111055	12/2LB BAGS	*	25	\$0.00/LB	\$0.00	779	215	4
<b>24-Rice</b> 992	USDA RICE 24/2-100491	24/2# BAG	*	51	\$0.00/LB	\$0.00	4,454	252	4
26-Condi									
		N SECTION OF US	DA INVE	NTOF	RY				
10-Fruits 919	Canned/Frozen USDA BLUEBERRIES-FROZEN -110623	12/2.5 LB BAGS	*	30	\$0.00/LB	\$0.00	3,776	145	4
US921	USDA FROZEN APRICOT CUPS-100261	96/ 4.5 OZ CUP	*	27	\$0.00/LB	\$0.00	995	105	4
USD923	USDA FROZEN SLICED PEACHES -100238	12/2 POUND POUCHES	*	24	\$0.00/LB	\$0.00	2,727	161	4
US913	USDA WHOLE STRAWBERRIES-111120	12/2.5LB BAGS	*	30	\$0.00/LB	\$0.00	1,583	71	4
979	USDA WILD BLUEBERRIES-100242	8/3 LB BAG	*	24	\$0.00/LB	\$0.00	2,276	129	4
<b>15-Meat/F</b> U945	Fish/Poultry  USDA PORK CHOPS-110380	40/1 LB . PACK	*	40	\$0.00/LB	\$0.00	1,467	0	4

## **USDA INVENTORY**

Items on this page that are marked with an asterisk (\*) may be paid for by the HPNAP Food Grant. RS=Restrictions as follows

1= Bulk Item; All programs EXCEPT Food Pantries may order these items.

Item	Description	Packing	*=Yes for HPNAP	Case Wt.	Charge PerLB	Charge Per Unit	Available in Latham 12/08/2023	Available in Cornwall 12/08/2023	RS
07-Dairy US959	y Products USDA AMERICAN CHEESE-100035	12/2 LB CARTONS	*	24	\$0.00/LB	\$0.00	142	164	4
<b>23-Non</b> - U995	-Meat Protein USDA WALNUTS-100908	24/1 LB BAG	*	25	\$0.00/LB	\$0.00	5,917	295	4
<b>28-Prod</b> US934	luce USDA FRESH GRAPEFRUIT-100281	35LB BOX	*	35	\$0.00/LB	\$0.00	0	112	4